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Department of Accounting and Finance

40102  Accounting 1

	Wednesday 10th August 2005
	9.30am – 11.30am    2 hours


The pass mark for Accounting 1 is 40% weighted across the coursework and examination.  The examination contributes 70%.  There is an additional condition that you MUST  score AT LEAST 36% IN THE FINAL EXAMINATION PAPER in EACH PART OF PART ONE AND PART TWO of the paper in order to pass. If you score less than 36% in EITHER PART of the paper then your mark will be returned to Registry as the lower of your weighted mark and 36%.

PART ONE:  FINANCIAL ACCOUNTING (70 marks)

THIS SECTION CONTAINS QUESTIONS 1 TO 10

YOU MUST ANSWER ALL OF THEM

PART TWO:  MANAGEMENT ACCOUNTING (30 marks)

THIS SECTION CONTAINS QUESTIONS 11 TO 18

YOU MUST ANSWER ALL OF THEM

FOLLOW THE INSTRUCTIONS WITH EACH QUESTION 

Calculators must not be used to store text and/or formulae nor be capable of communication.

Invigilators may require calculators to be reset

THIS PAGE IS INTENTIONALLY BLANK

PART ONE:  FINANCIAL ACCOUNTING 

(TOTAL 70 marks)

QUESTIONS 1 TO 8  (15 MARKS)

Questions 1 to 8 are multiple choice answer questions.  Please answer on the sheet provided.  Question 1 carries one mark.  Questions 2 to 8 carry two marks each.  No marks are deducted for wrong answers.

Question 1 ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED
CD Ltd has an investment in shares that cost £50,000.  Due to the falling stock market the shares are now worth only £40,000.  The directors of CD Ltd regards this as long-term investment and are not worried about the fall in value because they think the market will recover.  What action should the finance director take in the year-end accounts?

(a)
No action because the market is expected to rise again.

(b)
Asset of investment decreases, revaluation reserve decreases.

(c)
Asset of investment decreases, an expense is recorded in the profit and loss account.

(d)
Asset of investment decreases, a provision is recorded in the balance sheet.

(1 mark)

Question 2 ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED

The owner of a business places £20,000 in a bank account on 1 January  to start a business providing private nursing services.  During January she buys equipment costing £8,000 and provides nursing service to clients for which they pay her £12,000 in cash.  During January she pays business expenses of £5,000 in cash.  On 31 January she provides nursing services to a residential home, for which she is promised payment of £1,000 on 12 February.  Her office equipment depreciates by £400 per month.  She takes personal drawings of £300 per month.  What is her profit for January?

(a)
£5,100

(b)
£6,700

(c)
£7,000

(d)
£7,600

 (2 marks)

Question 3 ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED

On reviewing the financial statements of a company, the company's accountant discovers that the provision for doubtful debts, at an amount of £12,000, has remained unchanged since the start of the year.  The accountant recommends increasing the provision to £15,000.  Which of the following journal entries is a correct representation of replacing the provision of £12,000 with a provision of £15,000?

(a)
Debit profit and loss account £3,000, credit balance sheet provision £3,000.

(b)
Credit profit and loss account £3,000, debit balance sheet provision £3,000.

(c)
Debit profit and loss account £3,000, debit balance sheet provision £3,000. 

(d)
Credit profit and loss account £3,000, credit balance sheet provision £3,000.

(2 marks)

The following information relates to questions 4 to 8 inclusive

Greenbank plc

Profit and loss account for year ended 31 December Year 7
	
	
	
	£m

	Turnover
	
	
	518

	Cost of sales
	
	
	210

	Gross profit
	
	
	308

	Administration and selling expenses
	
	
	 57

	Operating profit
	
	
	251

	Loan interest
	
	
	   34

	Profit before taxation
	
	
	217

	Taxation
	
	
	  65

	Profit after taxation
	
	
	152

	Dividends 
	
	
	  22

	Retained profit for the year
	
	
	 130


Balance Sheet as at 31 December Year 7
	
	£m
	£m
	£m

	Fixed assets (net of depreciation)
	
	
	340

	Current assets:
	
	
	

	
Stocks and work-in-progress
	45
	
	

	
Debtors
	41
	
	

	
Cash
	  3
	89
	

	Less:  Creditors due within one year
	
	
	

	
Trade creditors
	(28)
	
	

	
Dividend
	(22)
	(50)
	

	Net current assets
	
	
	 39

	
	
	
	

	Total assets less current liabilities
	
	
	379

	Creditors due after one year
	
	
	

	
Long term loan
	
	
	(120)

	Net assets
	
	
	259

	
	
	
	

	Share Capital and Reserves
	
	
	

	
Issued share capital 


  (Ordinary shares of 25p nominal value each)
	
	
	80

	
Profit and loss reserves
	
	
	 179

	
	
	
	259


Note:  Assume opening and closing stocks are equal.  Cost of sales represents purchases of goods for resale.
Question 4  ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED
The period of credit allowed by suppliers is:

(a)  365 x 28/308 = 33.2 days

(b)  365 x 41/308 = 48.6 days

(c)  365 x 28/210 = 48.7 days

(d)  365 x 41/210 = 71.3 days

(2 marks)

Question 5  ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED
The interest cover is:

(a)
217/34 = 6.4 times

(b)
251/34 = 7.4 times

(c)
308/34 = 9.1 times

(d)
365/34 = 10.7 times

(2 marks)

Question 6  ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED
The gross profit margin is:

(a)
100 * 210/518 = 40.5%

(b)
100 * 308/518 = 59.5%

(c)
100 * 210/340 = 61.8%

(d)
100 * 308/340 = 90.6%

(2 marks)

Question 7  ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED
The return on capital employed is:

(a)
100 * 152/379 =40.1%

(b)
100 * 152/259 =58.7%

(c)
100 * 251/379 =66.2%

(d)
100 * 251/259 =96.9%

 (2 marks)

Question 8  ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED
On reviewing the financial statements, the company’s accountant decides to revalue that part of the fixed assets which relates to land and buildings.  The estimated market value is £3 million greater than the historical cost net book value.  What will be the effect on the profit and loss account and balance sheet when this adjustment is made?

(a)
Increase cash by £3 million;  Create revaluation reserve of £3 million.

(b)
Increase cash by £3 million;  Increase profit before taxation by £3 million.

(c)
Increase fixed assets by £3 million;  Increase profit before taxation by £3 million.

(d)
Increase fixed assets by £3 million;  Create revaluation reserve of £3 million.

 (2 marks)

Question 9 WRITE THE ANSWER TO PART (a) ON THE ACCOUNTING EQUATION WORKSHEET ATTACHED TO THIS PAPER.  WRITE THE ANSWER TO PARTs (b) and (c) IN THE ANSWER BOOK PROVIDED

The list of assets, liabilities and ownership interest of Bramble plc at 1 January 2004 is as follows:

	
	Assets
	Liabilities and ownership interest

	
	£m
	£m

	Land and buildings at cost
	242
	

	Land and buildings, accumulated depreciation
	
	24

	Plant and machinery at cost
	625
	

	Plant and machinery, accumulated depreciation 
	
	363

	Stock
	86
	

	Debtors
	55
	

	Provision for doubtful debts
	
	7

	Cash
	 22
	

	Creditors (suppliers)
	
	 40

	Long term loans
	
	242

	Share capital (ordinary shares of 25p each)
	
	140

	Reserves
	___
	214

	
	1030
	1030

	
	
	


The following transactions and events relate to the year ended 31 December 2004:

	
	£m

	Stocks of goods were purchased on credit 
	460

	Goods were sold on credit terms. 


The total sale price of goods delivered to customers was


The cost of these goods for Bramble was
	810

380

	Cash received from customers for goods sold on credit
	717

	Cash paid to suppliers
	436

	Staff wages paid in cash during the year 
	78

	Administration and selling costs paid in cash during the year (including interest on loans £10m)
	44

	An item of plant and machinery was purchased on 1 March for £14m in cash.  
	14


On 31 December 2004 the following transactions and events required attention.

1. Bonuses due to employees at the end of December 2004 amounted to £3m.  They were paid in the first week of January 2005.

2. Depreciation on plant and machinery is to be calculated as 25% on the straight line basis.  No plant and machinery was sold during the year.  A full year’s depreciation is charged in the year of acquisition.  

3. The estimated depreciation for buildings during 2004 is £10m. 

4. The directors have reviewed the list of debtors at 31 December 2004.  They have decided that one amount of £11m owing by a customer is a definite bad debt that will not be recovered.  They wish the balance sheet provision to be 5% of the remaining debtor balances at the end of the year. 

5. Administration costs paid in cash include £3m advertising costs in advance, paid on 31 December 2004.

6. Stocks were inspected on 31 December 2004 and it was found that items costing £20m had a net realisable value of £15m.  The remaining stock had a net realisable value of £200m.

7. Corporation tax of £15m is payable after the end of the year.

Required 

WRITE THE ANSWER TO PART (a) ON THE ACCOUNTING EQUATION WORKSHEET ATTACHED TO THIS PAPER

(a) Using the Accounting Equation Worksheet attached to this paper, record the effect of the above transactions and events of Bramble plc for the year ended 31 December 2004.

(15 marks)

WRITE THE ANSWER TO PART (b) IN THE ANSWER BOOK PROVIDED

(b)
Produce (i) the profit and loss account and (ii) the balance sheet of Bramble plc in respect of the year ended 31 December 2004, in a format suitable for presentation to shareholders.

 (15 marks)

WRITE THE ANSWER TO PART (c) IN THE ANSWER BOOK PROVIDED

(c)
Explain three accounting measurement principles applied in producing your answer to (b) above.

(10 marks)

(Total 40 marks)

Question 10  ANSWER THIS QUESTION IN THE ANSWER BOOK PROVIDED

Explain how you would deal with the accounting aspects of each of the following situations,  making reference to appropriate accounting measurement conventions and qualitative characteristics of financial statements:

(a)  
A company developing a new type of vacuum cleaner has incurred costs of £15m in a market research survey.  The survey indicates strong support from the public and a successful sales campaign seems a certainty.  They seek your support for regarding the market research cost of £15m as an asset, to be reported in the balance sheet and amortised against future sales.

(5 marks)

(b)  
Sparks Ltd, an electrical contractor, has received a complaint from a customer about faulty wiring that has caused a small fire.  The customer’s insurance company is threatening to take legal action against the contractor to recover the cost of the damage.  The directors of Sparks Ltd seek your support for including no information about this in the annual report, on the basis that legal action will only commence two or three years from now.

(5 marks)

(c)  
The directors of a rail operating company are expecting to receive compensation from the rail track maintenance company for delays caused by signalling failure.  The amount of compensation will be decided by a special court in March Year 2 but is likely to be at least £500,000.  The directors propose to include an estimate of £500,000 as revenue for Year 1.  They seek your support for this proposal.

(5 marks)

(Total 15 marks)

PART TWO:  MANAGEMENT ACCOUNTING

(TOTAL 30 marks)

Questions 11 to 16 are multiple choice answer questions.  Please answer on the sheet provided.  Questions 11 to 14 carry one mark each.  Questions 15 and 16 carry two marks each.  No marks are deducted for wrong answers.

Question 11  ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED


Which of the following is the best description of the profit volume ratio?


(a)
The ratio of sales volume to total profit.


(b)
The ratio of total profit to sales volume.


(c)
The ratio of sales price per unit to contribution per unit.


(d)
The ratio of contribution per unit to sales price per unit.

(1 mark)

Question 12  ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED


Which of the following is the best description of a profit centre?

(a) A unit of the organisation in respect of which a manager is responsible for the investments under his or her control.

(b) A unit of the organisation in respect of which a manager is responsible for the costs under his or her control.

(c) A unit of the organisation in respect of which a manager is responsible for the costs and revenues under his or her control.

(d) A unit of the organisation in respect of which a manager is responsible for the employees under his or her control. 

 (1 mark)

Question 13  ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED


An organisation has 3 cost centres.  Production overheads are absorbed into production units by the use of overhead cost rates.  Which of the following best describes how the overhead cost rate should be calculated?

(a)
Total indirect costs for the business divided by the total number of units produced.

(b)
Overheads for each cost centre divided by activity levels of the relevant cost centre.

(c)
Number of units produced divided by the total cost centre overheads.

(d)
Number of units produced multiplied by the unit overhead cost.

 (1 mark)

Question 14  ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED


Which of the following is a variable overhead cost?


(a)
The wages of a production employee paid on the basis of output achieved.


(b)
A constant annual bonus paid to the storekeeper.


(c)
The cost of checking production equipment after each batch of output is completed. 


(d)
Annual rent payable for the factory.

(1 mark)

Question 15  ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED


DEF Ltd has the following alternative planned activity levels:

	
	Level 1
	Level 2
	Level 3

	
	£
	£
	£

	Total cost
	35,000
	55,000
	75,000

	Number of units produced
	5,000
	10,000
	15,000

	
	
	
	



The fixed overhead remains constant over the activity range shown.  What is the variable cost per unit?


(a)
£4.00


(b)
£5.00


(c)
£5.50


(d)
£7.00

(2 marks)

Question 16  ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED
The following list of production costs is budgeted for the year ahead:

	
	£000’s

	Direct materials
	300

	Indirect materials
	150

	Direct labour
	200

	Indirect labour
	110

	Other direct costs
	60

	Other indirect costs
	80


The company plans to produce 400,000 units of output, all identical.  What is the budgeted production overhead cost rate per unit?

(a)
£0.85

(b)
£1.40

(c)
£1.90

(d)
£2.25

 (2 marks)

Question 17  ANSWER THIS QUESTION IN YOUR ANSWER BOOK

A company is planning its production mix for the next period.   The company is able to sell any one or all of four separate products A, B, C and D.  Estimated costs, sales and production data are:

	Product
	A
	B
	C
	D

	
	£
	£
	£
	£

	Selling price per unit
	50
	60
	70
	80

	
	
	
	
	

	Variable costs
	
	
	
	

	Labour (at £14 per hour)
	14
	28
	35
	28

	Material (at £8 per kg)
	16
	8
	24
	8

	
	
	
	
	

	Resources per unit
	
	
	
	

	Labour (hours)
	1
	2
	2.5
	2

	Material (kgs)
	2
	1
	3
	1

	Maximum demand (units)
	3,000
	3,000
	3,000
	3,000


Required:

Based on the table above, show the most profitable production mix under each of the following mutually exclusive assumptions:

(a)    Labour hours are limited to 12,000 in a period; or

(b)    Material is limited to 10,000 kgs in a period.

(12 marks)

Question 18  ANSWER THIS QUESTION IN YOUR ANSWER BOOK
A school manager wishes to establish a budget committee to oversee budgetary planning for the year ahead.

Required

Explain the purpose of the budget committee and the key tasks undertaken by the budget committee. 

 (10 marks)

END OF PAPER
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ACCOUNTING EQUATION WORKSHEET

	
	Assets
	Liabilities
	Ownership Interest

	Bramble plc
	Cash


	Land and buildings

Cost
	Land and buildings Acc depn
	P&M

Cost
	P&M

s Acc depn
	Stock
	Debtors & pre-payments
	Doubtful debts
	Creditors and accruals
	Loans and Provisions
	Share capital & reserves
	Revenue
	Expenses

	
	£m
	£m
	
	£m
	£m
	£m
	£m
	£m
	£m
	£m
	£m
	£m
	£m

	Balance at 1/1/2004
	22
	242
	(24)
	625
	(363)
	86
	55
	(7)
	40
	242
	354
	
	

	Transactions in Year
	
	
	
	
	
	
	
	
	
	
	
	
	

	Goods purchased
	
	
	
	
	
	
	
	
	
	
	
	
	

	Sale on credit terms
	
	
	
	
	
	
	
	
	
	
	
	
	

	Cost of goods sold
	
	
	
	
	
	
	
	
	
	
	
	
	

	Cash from customers
	
	
	
	
	
	
	
	
	
	
	
	
	

	Paid to suppliers
	
	
	
	
	
	
	
	
	
	
	
	
	

	Wages
	
	
	
	
	
	
	
	
	
	
	
	
	

	Administration and selling exps
	
	
	
	
	
	
	
	
	
	
	
	
	

	Asset purchased
	
	
	
	
	
	
	
	
	
	
	
	
	

	31 Dec 2004
	
	
	
	
	
	
	
	
	
	
	
	
	

	Expenses unpaid
	
	
	
	
	
	
	
	
	
	
	
	
	

	Depreciation


	
	
	
	
	
	
	
	
	
	
	
	
	

	Bad and Doubtful debts
	
	
	
	
	
	
	
	
	
	
	
	
	

	Licences and insurance
	
	
	
	
	
	
	
	
	
	
	
	
	

	Stocks
	
	
	
	
	
	
	
	
	
	
	
	
	

	Taxation
	
	
	
	
	
	
	
	
	
	
	
	
	

	Balance at 31/12/2004
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Semester 1 2004/05

Multiple choice answer sheet for August 2005 degree examination

Your registration number………………………:………………………………….

Tick the box (A, B, C, or D) that corresponds to the answer that you select

If you have to make a correction, make sure your answer is clear to the marker
QUESTIONS ON FINANCIAL ACCOUNTING

	
	
	Question
	Answer
	
	Column for markers use only

	
	
	
	A
	B
	C
	D
	
	
	
	

	
	
	1
	
	
	
	
	
	/1
	TOTAL
	

	
	
	2
	
	
	
	
	
	/2
	
	

	
	
	3
	
	
	
	
	
	/2
	For markers use only
	

	
	
	4
	
	
	
	
	
	/2
	
	

	
	
	5
	
	
	
	
	
	/2
	
	

	
	
	6
	
	
	
	
	
	/2
	
	

	
	
	7
	
	
	
	
	
	/2
	
	

	
	
	8
	
	
	
	
	
	/2
	/15
	


QUESTIONS ON MANAGEMENT ACCOUNTING

	
	
	Question
	Answer
	
	Column for markers use only

	
	
	
	A
	B
	C
	D
	
	
	
	

	
	
	11
	
	
	
	
	
	/1
	TOTAL
	

	
	
	12
	
	
	
	
	
	/1
	
	

	
	
	13
	
	
	
	
	
	/1
	For markers use only
	

	
	
	14
	
	
	
	
	
	/1
	
	

	
	
	15
	
	
	
	
	
	/2
	
	

	
	
	16
	
	
	
	
	
	/2
	/8
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